

$$t_n = 5, 9, 13, \dots$$

الف) جمله عمومی؟ $\checkmark a_n = 4n + 1$

ب) جمله دهم؟ $\checkmark a_{10} = 4 \cdot 10 + 1 = 41$

(۲)

$$t_n = 9, 10, 11, \dots$$

الف) مجموع اعداد اول؟ $\checkmark \frac{10}{2} (9 + 11) = 100$

$$a_n = 4n + 2$$

$$d = 1$$

(۲)

ب) ۱۱ جمله هشتم؟ $\checkmark S_8 = \frac{8}{2} (13 + 11) = 96$

$$t_{21} = 4 \times 21 + 2 = 86$$

$$t_n = 1 + \sqrt{3}, 2, 3 - \sqrt{3} \rightarrow d = 1 - \sqrt{3}$$

$$t_{25} - t_{23} = 2d = 2(1 - \sqrt{3}) = 2 - 2\sqrt{3}$$

(۲)

$$a_n = d^{rn}, r \times r d^{rn}, d^y$$

$$d \times d^{rn} = d^y \Rightarrow y = rn + 1$$

(۲)

$$b_n = n, r, y \Rightarrow \varepsilon = n + y_{rn+1} \Rightarrow \varepsilon = rn + 1 \Rightarrow n = 1$$

$$\Rightarrow y = 3$$

$$rn - \varepsilon, rn - 1, 9n, \dots$$

$$rn - 1 + 3 = 9n$$

$$rn + 2 = 9n \Rightarrow n = \frac{1}{r}$$

$$t_\varepsilon = 9n + 3 = \frac{9}{r} + 3 = 6$$

(۲)

$$a_n = \{ \textcircled{r}, \textcircled{d}, \textcircled{v}, \textcircled{q}, \textcircled{11}, \textcircled{1} \} \quad q_{n-1}$$

$$b_n = \{ \textcircled{r}, \textcircled{d}, \textcircled{1}, \textcircled{11} \}$$

$$\left. \begin{array}{l} q_{n-1} \leq \varepsilon_1 \rightarrow q_n \leq \varepsilon_2 \rightarrow n \leq v \\ q_{n-1} \leq \Delta q \rightarrow q_n \leq q_0 \rightarrow n \leq 1. \end{array} \right\} \xrightarrow{n} n \leq v$$

$$\begin{array}{l} a_1 + \overset{-d}{a_r} + \overset{+d}{a_r} = r1 \Rightarrow a_r = \frac{r1}{r} = v \\ a_1 + \overset{-rd}{a_r} + \overset{+rd}{a_d} = 1 \cdot \Delta \Rightarrow a_r = \frac{1 \cdot \Delta}{r} = rd \end{array} \Rightarrow d = r1$$

$$a_r - a_r + a = rd - v - r1 = v$$

$$a_1 = v - r1 = -r1$$

$$\left[\frac{v}{-r1} = \frac{1}{r} \right]$$

$$a_r - d + a_r + a_r + d = 1d \Rightarrow a_r = d = a_1 + d$$

$$a_2 + a_d = rd \Rightarrow a_1 + rd + a_1 + \varepsilon d = rd \Rightarrow 2a_1 + vd = rd$$

$$\Rightarrow rd = 10 + \Delta d$$

$$a_{10} = a_1 + 9d = r + 2v = \textcircled{29}$$

$$S_9 = 9S_r$$

$$\frac{9}{r}(a_1 + a_9) = 9 \times \frac{r}{r} \times (a_1 + a_r)$$

$$\frac{a_{10}}{a_v} = \frac{a_1 + 19d}{a_1 + 9d} = \frac{19/1d}{9/1d} = \textcircled{r}$$

$$\frac{1}{r}(a_1 + 19d) - \frac{r}{r}(a_1 + 9d) = a_1$$

$$\frac{1}{r}a_1 + \varepsilon d - \frac{ra_1}{r} + 9d = a_1 \Rightarrow ra_1 = d \Rightarrow \frac{d}{r} = a_1$$

$$a_v - a_1 = 9d = rd - 11 = r\varepsilon \Rightarrow d = \varepsilon$$

$$a_\varepsilon = a_1 + rd = 11 + 1r = 2r$$

$$\cancel{2r - 2r = 1d}$$

$$\cancel{2r - 1r = rd}$$

$$b_1 + rd = 2r \rightarrow rd = -1d \Rightarrow d = -d$$

$$d = \frac{1r - 2r}{n+1} = -d$$

$$\Rightarrow n = \varepsilon$$